Exam Date : 04/09/2023

Subject Name : MATHS

Question 1
ffafea & o9 srufvay T8t 82

Answer :

(A) 4\/3
V916

(B)
© »\/ﬁ
(D) \/E

Right Answer :

V916

Question 2

QUESTION PAPER
Madhyamic MATHS [SHIFT - 1]

Subject Question

%om SHAd YR Hdl BT

Answer :

(A) |Id

(B) 3rid 3madf
(C) 3rfd Tadr
(OESEEIERG

Right Answer :
3gid sadf

Question 3

fr=fiRad & & g = 52
Answer :

(A) 15

(B) 23

(C) 12

(D) 75

Right Answer :
23

Question 4

et quifes e p % fore Rww G &1 w0 R
Answer :

(A) 2p+1

(B) 2p

QP

(D) p+1

Right Answer :
P

Time : 10:00 AM - 12:30 PM

Subject Code : 110

Question Id : 1

Option Id
1001

1002

1003

1004

Right Option Id : 1002

Question Id : 55

Option Id
55001
55002
55003
55004

Right Option Id : 55002

Question Id : 54

Option Id
54001
54002
54003
54004

Right Option Id : 54002

Question Id : 53

Option Id
53001
53002
53003
53004

Right Option Id : 53003



Question 5
fRafefad ® o1 uay e 82

Answer :

(A) 2V§

(B) \/g

243
V3
(0)

V6

Right Answer :

243
V3

Question 6

V5 Udh IAT 6 |
Answer :

(A) IRET

(B) 3URTY

(C) QI

(D) WTpd

Right Answer :
uReg

Question 7

3+2v/5 Th AT 5|
e

(B) TRTT

(C) HHTST

(D) Ulepd

Right Answer :
Uiy

Question 8

a= bg+r T HOWO (a,b)
Answer :

(A) HOYO (a,r)

(B) THOWO (b,r)

(C) HOHO (b,a)

(D) STH B1S T8I

Right Answer :
HOHO (b,r)

Question 9

Question Id : 52

Option Id
52001

52002

52003

52004

Right Option Id : 52003

Question Id : 51

Option Id
51001
51002
51003
51004

Right Option Id : 51002

Question Id : 50

Option Id
50001
50002
50003
50004

Right Option Id : 50001

Question Id : 49

Option Id
49001
49002
49003
49004

Right Option Id : 49002

Question Id : 48



5,15 3R 20 & TOHO 3R HOHO &7 3IUTd ¢ |
Answer :

(A) 9:1

(B) 4:3

(C) 11:1

(D) 12:1

Right Answer :
12:1

Question 10

-3
53 —

B P
Answer :
(A) TTPpd e
(B) TR T
(C) 3HURTg T
(D) 3TH ®IS T8I

Right Answer :
MUY FE=AT

Question 11

T 65 TUT 117 HT HOWO 65m-117 F FUH g, A m HT A g
Answer :

(A1

(B)2

3

(D)4

Right Answer :
2

Question 12

n & 6T A W T 4, T ST
Answer :

(A) n=2

(B) n=0

© T DIs AT n T8 &

(D) n=x

Right Answer :

Question 13

4052 TUT 12576 BT HoHo GNTI
Answer :

(A)1

(B)2

3

(D) 4

Right Answer :
4

Question 14
fFafifea d ¥ P ague g

Option Id
48001
48002
48003
48004

Right Option Id : 48004

Question Id : 47

Option Id
47001
47002
47003
47004

Right Option Id : 47003

Question Id : 46

Option Id
46001
46002
46003
46004

Right Option Id : 46002

Question Id : 45

Option Id
45001
45002
45003
45004

Right Option Id : 45003

Question Id : 44

Option Id
44001
44002
44003
44004

Right Option Id : 44004

Question Id : 43



Answer :
(A) X% + 3Vx
(B) 2x2+3Vx
C
Yy xiz —2
(D) 3x%+2Vx

Right Answer :
2x%+3Vx

Question 15

frafaRaa & o sgue &1 U T S A § -

Answer :

(A) ax®+bx+c

(B) ax3+bx?+cx+d
(C) ax®+bx?+c

(D) ax*+bx3+cx?+d

Right Answer :
ax3+bx2+cx+d

Question 16
JgUG 4x2-3 o LD BT :

Answer :
A 3 V3
5 7 5

(B)

©

Right Answer :

ﬁ V3

2 2

Question 17

g THieRor g & A Udh-gaR & GHIdR &), IQ Hed 8 :

Answer :

(A) farieit

(B) SifaRieit
(OEUES

(D) 37TH BIS T8

Right Answer :
[ERE]

Question 18

K & ford 719 & ford Ieiianun x+2y=7 T 2x+ky=14 TUT i :

Answer :
(A) 2
(B)3

Option Id
43001
43002
43003

43004

Right Option Id : 43002

Question Id : 42

Option Id
42001
42002
42003
42004

Right Option Id : 42002

Question Id : 41

Option Id
41001

41002

41003

41004

Right Option Id : 41003

Question Id : 56

Option Id
56001
56002
56003
56004

Right Option Id : 56001

Question Id : 57

Option Id
57001
57002



(€ 4
(D) T8 ®1S I

Right Answer :
3

Question 19
e grad FHIBR FdTa o7 3FRHd 8 81 af 98 JHIBRUT (b Hgardr @ -

Answer :

(A) faRiet

(B) SfaRieft

(C) 3Mfdrd

(D) 3TH BIS T

Right Answer :
3Tfera

Question 20

& x-2, TGUT x2+ax+2b HT TP TUFIUS § Ud a+b=-2 8 ¥ a 3R b &AM &I :

Answer :

(A) a= -1, b=-3
(B) a=1, b=3
(C) a=-3, b=1
(D) a=5, b=-3

Right Answer :
a=-3, b=1

Question 21

TgUG x2-16x+30 T I 1 gerdn o f ol sgue &1 Ue 94 15 g1 ;
Answer :

(A) 16

(B) 15

(C) 14

(D) 30

Right Answer :
15

Question 22

K 3 forg A1 & forg Tefiesrur I x+2y-3=0 TUT 5x+ky+7=0 B P13 8 el G :
Answer :

(A)3

(B) 10

1

(D) -1

Right Answer :
10

Question 23

gfe IgUT x2-5x+k BT T W 2 Bl dl K &1 A g1 -
Answer :

(A) 5

(B)6

@o

(D) 37TH BIS T

57003
57004

Right Option Id : 57002

Question Id : 58

Option Id
58001
58002
58003
58004

Right Option Id : 58003

Question Id : 67

Option Id
67001
67002
67003
67004

Right Option Id : 67003

Question Id : 73

Option Id
73001
73002
73003
73004

Right Option Id : 73002

Question Id : 72

Option Id
72001
72002
72003
72004

Right Option Id : 72002

Question Id : 71

Option Id
71001
71002
71003
71004



Right Answer : Right Option Id : 71002
6

Question 24 QuestionId : 70

3 THfiRr g T SMeRd Ufaddl 81, afe su g P Ed -

Answer : Option Id
(A) PR BATT 70001
(B) Gl ga &I 70002
(C) WD AT 70003
(D) 3 g Bl 70004
Right Answer : Right Option Id : 70003
T g &

Question 25 Question Id : 69

Tfg 2x+by=8 UF ax-3y=-4 &1 & x=1dUT y=2 B dl a 3R b HT A NI :

Answer : Option Id
(A)a=2,b=3 69001
(B)a=-2,b=3 69002
(C)a=2,b=-3 69003
(D) 378 ®Is gl 69004
Right Answer : Right Option Id : 69001
a=2,b=3

Question 26 Question Id : 68

fore wta=or Foma @1 sifeita & §iar 2, 98 TR0 e FEar g -

Answer : Option Id
(A) faiet 68001
(B) SffaRielt 68002
(C) Snf3re 68003
(D) 378 ®Is gl 68004
Right Answer : Right Option Id : 68002
rfareh

Question 27 Question Id : 66

i TR BT agx + by = ¢; TUT ayx + by = ¢, BT 3G Uh ORI T (13T forg W ufd=dg &L dl gHIbRur Fard & ga 8iH

Answer : Option Id
(A) SHT 66001
(B) TF 3R Had Ud 66002
(C) Pl B ol 66003
(D) SuYert |t 66004
Right Answer : Right Option Id : 66002
TP 3R Hdd Th

Question 28 Question Id : 59

gfe GIad THIBRUT 6T agx + bry = ¢ TUT axx + bay = ¢, & 3G YUTA &1 I HIHRU A &1 8§ I -

Answer : Option Id
(A) BT3B T8l 59001
(B) T 3R Had U & 59002
(C) 3FRHd g 59003
(D) T8 ¥ BIg g1 59004
Right Answer : Right Option Id : 59003

3 g



Question 29 Question Id : 65
1,2,3, 4 n &1 7T I B |

Answer : Option Id
(A) 65001
N(N+1}
2
(B) wN+1 65002
2
< N 65003
2
D) w 65004
— 4 1
2
Right Answer : Right Option Id : 65002
N+
2
Question 30 Question Id : 64
¢ & {69 1 & o fgerd T ax?+bx+c=0 & g JAH g1
Answer : Option Id
(A) b2 64001
. >
(1
B) B2 64002
4a
© a2 64003
b :
D) a2 64004
4b
Right Answer : Right Option Id : 64002
b2
4a
Question 31 Question Id : 63
TG ax? + bx+c =0 & A U - QUL & JehH gl dl
Answer : Option Id
(A) a=b 63001
(B) b=ac 63002
(C) a=c 63003
(D) ac=1 63004
Right Answer : Right Option Id : 63003
a=c
Question 32 Question Id : 62

m%ﬁwmmwwé?

(A) %143 & HTd H 10% Wi
(B) 393 & HId H 7% i

Answer : Option Id
(A)AT 62001
(B)BH 62002
(C) Tl H FHH a1 62003

(D) 378 ¥ PI5 a1 62004



Right Answer : Right Option Id : 62002

BH

Question 33 Question Id : 61

TS M % 1250, 10 AT Hed & AR T AT | S TR BTSSR HI < 9.50 &) o1l & ol I8 9 99 a1 31 39 8 arelt g1 B

Answer : Option Id
(A) 60 61001
(B) 62.5 61002
(C) 61.5 61003
(D) 98 9 IS el 61004
Right Answer : Right Option Id : 61002
62.5

Question 34 Question Id : 60

A TUT B A FIAHR Ue TR 3MRY faaT| A 3 36000 Fo 8 ATE & forT @I STaifds B 3 3 Usht 6 ATE & forT @I | 3id & B &1 ol &M &7 15/31 YT firam, a8 A
Pl fd1 4= T

Answer : Option Id
(A) 42000 60001
(B) 39000 60002
(C) 35000 60003
(D) 45000 60004
Right Answer : Right Option Id : 60004
45000
Question 35 Question Id : 40
forelt RIAm & 3ifed Ted TR 10% &1 981 37 W TH GHHER DI 20% HT ATH 81T &1 TS 20% HT IT a1 S df ITHT U7 Bielm 8
Answer : Option Id
(A) 8% 40001
(B) 40002
2
6—%
3
© 1 40003
7-%
3
(D) 10% 40004
Right Answer : Right Option Id : 40002
2
6—%
3
Question 36 Question Id : 39
400 Fo 3HfHd e & U RIAT TSI BT 8% F &l HiHG d¢ UR I°1 TT| TG GHT 16% BT el ST BI TIVUT FHX Tg I g1 arel g1 gt
Answer : Option Id
(A) 2.56 39001
(B) 4 39002
(C) 3.25 39003
(D)5 39004
Right Answer : Right Option Id : 39001
2.56
Question 37 Question Id : 38
it o &1 G 30% TETHR IUW 10% TUT 10% HI &l it Fe1 foan Sran g | sifqm ary &1 ufa=rd gem?
Answer : Option Id

(A) 5% 38001



(B) 5.5% 38002

(C) 5.3% 38003
(D) 4.3% 38004
Right Answer : Right Option Id : 38003
5.3%

Question 38 Question Id : 37

TP GHMER 3T ST BT Yoo ArTd T U 20% 31 Feffd HRar 8 9uT WiiceR &1 10% a1 4t a1 81 39 USHR PR B $dl [ Ua=rd &1 a1y g
Answer : Option Id
(A) 10% 37001
(B) 8% 37002
(©) 12% 37003
(D) 15% 37004
Right Answer : Right Option Id : 37002
8%

Question 39 Question Id : 17

TS Afad 4 $© IR IYR o quU1 3 8820 FUY faay ot <1 T fhwat A direr fean| afe gl ot &1 &R 5% a1 g1 al SUR &1 T3 AR gifte

Answer : Option Id
(A) 17400 o 17001
(B) 16000 Fo 17002
(C) 16400 o 17003
OESERKIERE] 17004
Right Answer : Right Option Id : 17003
16400 o

Question 40 QuestionId : 16
o T o 5% aTite ahdia &S DI T I 1600 Fo TGH 1852.20 Fo Gl STIIN?

Answer : Option Id
(A) 2 T 16001
(B) 3 a9 16002
(©4dd 16003
(D) 37TH IS &l 16004
Right Answer : Right Option Id : 16002
3qY

Question 41 Question Id : 15

TH B Bl 450 To Tahe YA 210 Fo I YA qUT IP YA 125 Fo Hi ol WIS forkd! & Iuetsy g1 ford o1 & fore saret &t &R R g

Answer : Option Id
(A) 33.8% 15001
(B) 33.5% 15002
(C) 34.8% 15003
(D) 34% 15004
Right Answer : Right Option Id : 15001
33.8%

Question 42 Question Id : 14

TS AT TR &1 Ged 12000 Fo & R HUAT 5200 Fo BT G¥d YA AhR Y AR TAH fbeal H ol 81 Al 11 B &R 12% 1D § qU1 A1RIe fbed 1400 To
fmTs € o fpwdl o T gt

Answer : Option Id
(A) 4 14001
(B)5 14002

e 14003



(D) 3 14004

Right Answer : Right Option Id : 14002
5

Question 43 Questionid : 13
TH SR 3500 Fo T Fahg IUTH § TR [ 1o & Sfavfd T8 1500 Fo & qed YT a Ufd faamgt o aam frat & witear g1 Siar ufa faaret afora
B a1 12% I ST IIdT & U fobd i AR FAbedd To H F1d Y|

Answer : Option Id
(A) 707 %o 13001
(B) 725 %o 13002
(C) 710 %o 13003
(D) 750 o 13004
Right Answer : Right Option Id : 13001
707 2o

Question 44 Question Id : 12

T UAT 1500 Fo BT Ged YA qUT 440 Jo I UfTHTE 5 TH WIS fheai H Iuasy g | A fhd Ao 3 Sfaid 24% T sToT forn STl § df URd &1 Aahg
el g

Answer : Option Id
(A) 3500 %o 12001
(B) 3580 o 12002
(C) 3600 %o 12003
(D) 3680 %o 12004
Right Answer : Right Option Id : 12002
3580 %o

Question 45 Question Id : 11

y 318 IR Ry forddt famg 1 fd=nias 5

Answer : Option Id
(A) (0,y) 11001
(B) (v.0) 11002
(C) (0,0 11003
(D) (xy) 11004
Right Answer : Right Option Id : 11001
0.y)

Question 46 Question Id : 10
foreht forg BT x-318r T & I faeg &1 FHgard g

Answer : Option Id
(A) @I 10001
(B) Hal 10002
(C) &l 10003
(D) STerE 10004
Right Answer : Right Option Id : 10001
Dife

Question 47 QuestionId : 9

x=-4 HT eI B! I @1 g |

Answer : Option Id
(A) x-318f & GHIR 9001
(B) y-3f&l & HIGR 9002
() 7 forg ¥ oIl g2 9003

(D) 375 A BIS el 9004



Right Answer :
y-3{&f & JHIR

Question 48

fagt (3,2) 3R (-3,2) T @A |
Answer :

(A) x-31&f TR

(B) y-3H& WX

(C) x-3{& & Th 3R

(D) x-31& & I 3R

Right Answer :
x-318 & Tdh 3R

Question 49
fageff 23) MR @) F TP AT |

Answer :
(A) 2
(B)1

© 2_\/§
(D) @

Right Answer :

242

Question 50
3l fagl P(2,3) Q(4,2) & & P g BRI

Answer :

(A) _\/E
(B) _\/§

Q)2
D) [ 5
Right Answer :

V5

Question 51

fagaft A(0,6), B(-5,3), Td C(3,1) T Ay & =M fargt 8, a8 Ay 8-

Answer :
(A) TAfGaTg
(B) {HdTg

(QREREEIH
(D) TSI YW

Right Answer :

THigeTg

Question 52

& gd & o &b RRY BT FAH (-4,2) 3R (8,6) § A Bseh BT .01 SN |

Answer :
(A) 3,1)

Right Option Id : 9002

Questionid : 8

Option Id
8001
8002
8003
8004

Right Option Id : 8003

Question Id : 7

Option Id
7001
7002
7003

7004

Right Option Id : 7003

Questionid : 6

Option Id
6001

6002
6003
6004

Right Option Id : 6004

QuestionId : 5

Option Id
5001
5002
5003
5004

Right Option Id : 5001

Question Id : 4

Option Id
4001



(B) (1.3)
() 2.4)
(D) (4.2)

Right Answer :
(2,4)

Question 53

A BT P5b AP ARG B! f6d Srgura H fAHTRT S @ |

Answer :
(A) 1:2
(B) 2:1
(©) 11
(D) 2:2

Right Answer :
2:1

Question 54

I P AT WS AB Y K:1 F 3uTd H fIHTRIT &1 dl p farg & FE=iies 81T IS A(xq,ys) 3R B(xa.y,) B |

Answer :

® x, —kx ky, —ky

B2 f 2
® kxz +k'xl kyz +ky1
el -~ kst
© fx +x, Ky +vy,
k2
OESEEEIERE]

Right Answer :

kxz +k'xl k}rz_i_k}rl
Bl & ksl

Question 55
TR ¥ gl 8-

Answer :
(A) THiaTT
(B) fefasita
(C) Afad
(D) foug=

Right Answer :
T iaHT

Question 56

gfaae & 1 ' Ui B $d fha- are g 2
Answer :

(A) 13

(B) 465

(C) 405

(D) T8 A P g

Right Answer :
465

4002
4003
4004

Right Option Id : 4003

Question id : 3

Option Id
3001
3002
3003
3004

Right Option Id : 3002

Questionid : 18

Option Id
18001

18002

18003

18004

Right Option Id : 18002

Question Id : 2

Option Id
2001
2002
2003
2004

Right Option Id : 2001

QuestionIid : 19

Option Id
19001
19002
19003
19004

Right Option Id : 19002



Question 57

AB cufar g -
Answer :

(A) TTT AB

(B) fehzur AB

(C) TTTEUS AB

(D) 379 4 gt

Right Answer :
1 AB

Question 58
X > 90° BT 31

Answer :

(A) x BT AT 90° I 31fie T ITb SRIER §
(B) x BT A 90° Y HH I ISP SRR §
(C) x=90°

(D) T8 A P15 et

Right Answer :
x BT 11 90° ¥ 3if¥eh U1 3T SRR &

Question 59

RS HIUT &1 g -
Answer :

(A) 20°, 160°

(B) 70°, 20°

(C) 120°, 60°

(D) 90°, 90°

Right Answer :
70°, 20°

Question 60

ATEfa #, x &1 AT E -

2x

ZN

Answer :

(A) 180°

(B) 18°

(C) 30°

(D) 378 ¥ PIS e

Right Answer :
30°

Question 61

Question Id : 21

Option Id
21001
21002
21003
21004

Right Option Id : 21001

Question Id : 36

Option Id
36001
36002
36003
36004

Right Option Id : 36001

Question Id : 35

Option Id
35001
35002
35003
35004

Right Option Id : 35002

Question Id : 34

Option Id
34001
34002
34003
34004

Right Option Id : 34003

Question Id : 33

D 3R E S AB 3R AC &1 YsT3fi W Ry fig § Y ABC $U UHR § f AD=2 ¥fi, BD=3 ¥f}, BC=7.5 {7 3R DE || BC. 79 DE &I daTs (AH HTF §

Answer :
(A) 2.5
(B) 3
(OF)

Option Id
33001
33002
33003



(D) 6 33004

Right Answer : Right Option Id : 33002
3

Question 62 Question Id : 32

TH GHGIU FAYS BT HUf 25 I § 3R AW & Yolrsfi & § U, gOR I 5 I a6l g1 39 & Yonsfi & da1s ©

Answer : Option Id
(A) 15 It 3R 10 Tft 320071
(B) 15 T} 3R 20 I 32002
(C) 12 It 37 23 Tft 32003
(D) 10 It 3R 15 Jft 32004
Right Answer : Right Option Id : 32002
15 AT 3R 20 I+

Question 63 Question Id : 31

I & STER U foig q I9 I W bt T #f =i Yard i S obelt €

Answer : Option Id
(A) 2 31001
(B) 1 31002
Q3 31003
(D) 4 31004
Right Answer : Right Option Id : 31001
2

Question 64 Question Id : 30

T T BT 20 JHT x 16 I MTATH P AMIADR &7 B DI TR 14 Hiex daTs o1 IR T 9741 771 81 T 59 Td 7 TR bl g ITDT &T%d &

Answer : Option Id
(A) 144cm? 30001
(B) 169cm? 30002
(C) 77cm? 30003
(D) 154cm? 30004
Right Answer : Right Option Id : 30004
154cm?

Question 65 Question Id : 29

foit U 7T AABC & THR=T FAIYS B 91 B & forg ot Yo ABC @t TTd YoiTafl &t 8/5 €, Teh fh=ur BX 39 UHR WU fob 2 CBX Th =g 10T &1 3R X,
BC & T # A & fauRa fa=m & g1 fhror BX TR THH gt R fRyd 811 ara figait &t <gaaw T= @

Answer : Option Id
(A) 5 29001
(813 29002
(OK: 29003
(D)3 29004
Right Answer : Right Option Id : 29003
8

Question 66 Question Id : 28
TIYST F BT 4:5: 10:11 F U & g1 HI0T - M 3:

Answer : Option Id
(A) 36°, 60°, 108°, 156° 28001
(B) 48°, 60°, 120°, 132° 28002
(C) 52°, 60°, 122°, 126° 28003

(D) 60°, 60°, 120°, 120° 28004



Right Answer : Right Option Id : 28002
48°, 60°, 120°, 132°

Question 67 Question Id : 27

T fig P 9, St 5 Wit e ard U 99 & g 0 ¥ 13 It &t gt WR B, I IR WRf @ pQ 3R PR &1 T Wi ST 8| 99 IgHS PQOR &1 &% d §

Answer : Option Id
(A) 60 cm? 27001
(B) 65 cm? 27002
(C) 30 cm? 27003
(D) 32.5 cm? 27004
Right Answer : Right Option Id : 27001
60 cm?

Question 68 Question Id : 26
YR BT = r 3R F1S = h a1 ST BT 3T &

Answer : Option Id
(A) 21trh 26001
(B) Ttr*h 26002
(C) 2mtr (r + h) 26003
(D) 1/3 mtr?h 26004
Right Answer : Right Option Id : 26002
mnr’h

Question 69 Question Id : 25

UH SOTER Seg § _ gATGER I8 R GUIHR HAd gid §, ol GAH 8 |

Answer : Option Id
(A) Ucp, T 25001
(B) U, & 25002
(C) T, TH 25003
(D) &, & 25004
Right Answer : Right Option Id : 25002
T, &

Question 70 Question Id : 24
gfe 3t & & Tde &7 16: 9 F AU | &, A I AT 3urd H i

Answer : Option Id
(A) 27: 64 24001
(B) 64: 27 24002
(C) 4:3 24003
(D) 3:4 24004
Right Answer : Right Option Id : 24002
64: 27

Question 71 Question Id : 23

&l &9 % SMTId &1 UM 8 : 27 81 A r 3R R HU: M &t AN §, A (R-n:r o

Answer : Option Id
(A)1:2 23001
(B)1:3 23002
(€2:3 23003
(D)4:9 23004
Right Answer : Right Option Id : 23001

1:2



Question 72 Question Id : 22
TF gragys & fawuf 8 It o 10 It § 1 79 THEgyS &1 & a 3

Answer : Option Id
(A) 64 cm T 22001
(B) 100 cm & 22002
(C) 80 cm & 22003
(D) 40 cm & 22004
Right Answer : Right Option Id : 22004
40 cm T:le

Question 73 Question Id : 74

o fpIR TR 91 U Io-IPR Ui o1 Taie o

Answer : Option Id
(A) T TP 3R T da 74001
(B) U Tiep 3MR Ueh o &l fyereh 74002
(C) T Srefire 3R T s 74003
(D) ¥R sa 74004
Right Answer : Right Option Id : 74001
TH P 3R TH da

Question 74 Question Id : 20
Seftic Tam & folU 31T fPU STH a1 Wed Bid BT PR JAIS- & =0 H gidl 5:

Answer : Option Id
(A) T feier 3R T M 200071
(B) U s 3R ua mamef 20002
(C) T TP 3R TP e 20003
(D) T® P 3R T e &1 T 5o 20004
Right Answer : Right Option Id : 20004
T 2P 3R T TMae &1 T s

Question 75 Question Id : 75

Tfe Uh U BT 3 1728 T3 B, 9P BN B! T8 SRR &:

Answer : Option Id
(A) 12 I 75001
(B) 24 It 75002
(C) 10 It 75003
(D) 25 &t 75004
Right Answer : Right Option Id : 75001
12 9Ht

Question 76 QuestionId : 78

T HR & TS 31 Tl fUae T a9 gid § SMUR 3 6 JH 3R SHaTs 32 T &1 T 319 UTg Riciex | YA Md &1 3 o

Answer : Option Id
(A) 3 Tt 78001
(B) 6 I 78002
(C) 12 It 78003
(D) 8 Tl 78004
Right Answer : Right Option Id : 78002
6 IHt

Question 77 Question Id : 92



TH HHT 3MHR H MAATER § 3R 3! T JUIe Td ¢ | TE 10 Hiex A1eT, 13 Hiex da 3R 5 Hiex SHar g1 3 3 3R T18R 3R W W Ue far S § afdd
Fd R g, O Ue fpar ST are d &% d §

Answer : Option Id
(A) 360 Hicx & 92001
(B) 460 ez i 92002
(C) 490 Hiex 92003
(D) 590 Hex a7 92004
Right Answer : Right Option Id : 92004
590 Hiex aif

Question 78 Question Id : 93

e U g1 1 URfY 3R e & g 7 8ick 37 I €, ot 91 o1 A

Answer : Option Id
(A) 11 31 it 93001
(B) 148 T it 93002
(C) 259 T 93003
(D) 154 Q#ft if 93004
Right Answer : Right Option Id : 93004
154 It &

Question 79 Question Id : 94

& T FHagHs & fawof 24 dm 3R 10 dm &, @ TH=qYS &1 ufkdm™

Answer : Option Id
(A) 68 dm 94001
(B) 60 dm 94002
(C) 52 dm 94003
(D) 50 dm 94004
Right Answer : Right Option Id : 94003
52 dm

Question 80 Question Id : 97

H Y &t Yorsft &1 darzar guie! & gt 8 3R 9@ 8w d o T quifes giaT g1 T Yo 21 4t 8 3R aRuTg 48 It B, A 9o SISt Yo &t das

Answer : Option Id
(A) 8 THt 97001
(B) 10 Tt 97002
(C) 12 It 97003
(D) 14 Tt 97004
Right Answer : Right Option Id : 97002
10 94

Question 81 Question Id : 96

I Tg & RN BT RIS AT ARG HH T IO S d 3l o & TR B THg 6T 7T Hgd ¢ |

Answer : Option Id
(A) \T1E 96001
(B) HIE D 96002
(C) dgdisd 96003
(D) 37TH A BIg el 96004
Right Answer : Right Option Id : 96002
HI D

Question 82 Question Id : 91

AT, WO qUT S5 H DI 1 Iaie T §
Answer : Option Id



(A) 9gcTh=3 HIHD-2HIH 91001

(B) dgcih =3HTH-3HTH D 91002
(C) SgcIp=H&HD-HIH 91003
(D) SgcIsh =HI-HIH D 91004
Right Answer : Right Option Id : 91001

g0 =3 HITH- 20T

Question 83 Question Id : 98

fereer Aol a1 ages a9 w2 ¥

Class 0-5 5-10 | 10-15 | 15-20

freq 2 4 5 4
Answer : Option Id
(A) 0-5 98001
(B) 5-10 98002
(C) 10-15 98003
(D) 15-20 98004
Right Answer : Right Option Id : 98003
10-15
Question 84 Question Id : 99
Ui GaTeil &1 |1 18 © Tfe Ueh TAT gl <t S ol |1 16 © | 82T 718 JTAT 2
Answer : Option Id
(A) 16 99001
(B) 18 99002
(C) 24 99003
(D) 26 99004
Right Answer : Right Option Id : 99004
26
Question 85 Question Id : 100
7.3, 5,8, 6,10, 9, 12 B 7S &
Answer : Option Id
(A) 8 100001
(B) 6 100002
(C) 7.5 100003
(D)7 100004
Right Answer : Right Option Id : 100003
7.5
Question 86 Question Id : 95
3 H 9 79 a6 T T81 FeTar o Iedn
Answer : Option Id
(A) H1T 95001
(B) HIdD 95002
(C) dgdid 95003
(D) 378 ¥ P15 g 95004
Right Answer : Right Option Id : 95001
HIY
Question 87 Question Id : 90

YT 8 3MTHTSY I BT HID §



Answer :
(A7
(B)9
on

(D) 13

Right Answer :
9

Question 88

N TEmat @ @y X &, Ucdd I&d
F k § UM R T T AT §

Answer :
A kX
(B)

S E |

©

+k
©F k

Right Answer :
kX

Question 89

1,2, X, 4, 5 ®T A0S 3 § Al 3BT A
Answer :

(A) 3

(B) 4

@5

(D) 4.5

Right Answer :
3

Question 90

'{!,‘:[)?ZAI*E;T <hF pi=?

Answer :
() Hi8
n
(B) hixi - A)
(€) xi—4

mn
(D) A+xi

n

Right Answer :
xi—A4

mn

Question 91

COLXTLONY 1 HIT [AeaTori@d & @ a7 geT?

cot2x
Answer :
(A1
(B) 2
(oK
(D)4

Option Id
90001
90002
90003
90004

Right Option Id : 90002

Question Id : 77

Option Id
77001
77002

77003
77004

Right Option Id : 77001

Question Id : 88

Option Id
88001
88002
88003
88004

Right Option Id : 88001

Question Id : 87

Option Id
87001

87002
87003

87004

Right Option Id : 87003

Question Id : 89

Option Id
89001
89002
89003
89004



Right Answer :
2

Question 92

Ilﬁ,"cosoczg 3R smﬁzi%',?ﬁ

cos(x —f) T HIA FAT §EM?

Answer :

(A)
24/15+V5
12

(B)
V5

12

o

D) 2415—5
12

Right Answer :

24/15+4/5
12

Question 93

13
Elﬁ," cosecld = —
12

AT FIT BOT?

Answer :
(A)

Right Answer :
3

Question 94

V3 tanB-1=0, sin20-cos20 &1 AT JTd BN |

Answer :
(A1

® 1
2

(D)o

Right Answer :
1

2

25inf—3cosf

4ds5inf—9cosh

Right Option Id : 89002

Question Id : 86

Option Id
86001

86002

86003
86004

Right Option Id : 86001

Question Id : 85

Option Id
85001

85002
85003

85004

Right Option Id : 85002

Question Id : 84

Option Id
84001
84002

84003

84004

Right Option Id : 84003



Question 95 QuestionId : 76

tanf 190 Oy gXTal ehme

secf—1 secB+1
Answer : Option Id
(A) 2tan® 76001
(B) 2sec® 76002
(C) 2cosecH 76003
(D) 2tan@ .secO 76004
Right Answer : Right Option Id : 76003
2cosecO
Question 96 Question Id : 83
2 1
Ife If cosecld = 2x 3T cotf= = @l 2(x? — —)="1
x x
Answer : Option Id
(A) 1 83001
i
B)1 83002
Q-1 83003
O 1 83004
2
Right Answer : Right Option Id : 83004
1
2
Question 97 Question Id : 82
(1+ cot?0)sin2@ HT A T gITI?
Answer : Option Id
(A)O 82001
B)1 82002
(X 82003
(D) 2 82004
Right Answer : Right Option Id : 82001
0
Question 98 Question Id : 81
4
e cos A= - @ tan A & A FIT B2
Answer : Option Id
A 3 81001
5
(B) 81002
3
4
Q 4 81003
3
(D) 5 81004
3
Right Answer : Right Option Id : 81002

3
4



Question 99

v3tan10°+v3tan20°+tan10°tan20°=------ WWW@TH?

Answer :
(A) -1
(B)0
O1

(D) 2

Right Answer :
1

Question 100

i sec2o + cos2oc = 2 Al sece + cos o A T GIN?
Answer :

(A) £2

(B)2

(C) #1

(D) -2

Right Answer :
2

Question 101
31FerTH UTepfaes foham @
Answer :

(A) TRrgmaff &1

(B) FR&iab &1

(C) ufd 1

(D) Siifad wroft &1

Right Answer :
Sfifar groft &1

Question 102
e ufshar &7 si:dafbar ues &

Answer :

(A) 3= &R G
(B) &

(©) W

(D) T gt

Right Answer :
B

Question 103

TITTHD FRIET0T BT YYH aR0T §
Answer :

(A) a1

(B) ¥HL

(C) fa=aw

(D) HeTiH

Right Answer :
Bl

Art Of Teaching

Question Id : 80

Option Id
80001
80002
80003
80004

Right Option Id : 80003

Question Id : 79

Option Id
79001
79002
79003
79004

Right Option Id : 79001

Question Id : 120

Option Id
120001
120002
120003
120004

Right Option Id : 120004

Question Id : 121

Option Id
121001
121002
121003
121004

Right Option Id : 121004

Question Id : 125

Option Id
125001
125002
125003
125004

Right Option Id : 125001



Question 104
RIS e ©

Answer :

(A) fafdree

(B) G T
(C) fopan i
(D) T it

Right Answer :
B

Question 105
IH BT GBUT B =T 88

Answer :

(A) BTdS faxafdame
(B) WABIS fazafaemed &
(C) R faxafasmerd @
(D) ¥ fa=afaerey 4

Right Answer :
fRreprn fawafaemera 9

Question 106

fRreror & ameyfes fafy o1 faRwar &

Answer :
NERIEIE-
OERIRIED
(C) THPE HEUNT
(D) IRIad Tt

Right Answer :
RENECR

Question 107

3mTA fafy e wvar 3
Answer :

(A) BT YTTGRY

(B) &4

(C) PR el

(D) SWRIa w4t

Right Answer :
IURIT it

Question 108
A = Y Y FHSIR &

Answer :

(A) €I BT T 3T

(B) R fafyr

(C) SHTerTH Ufchar i 71fd it
(D) TG T &

Right Answer :
& B0 BT UG

Question 109

Question Id : 123

Option Id
123001
123002
123003
123004

Right Option Id : 123004

Question Id : 124

Option Id
124001
124002
124003
124004

Right Option Id : 124003

Question Id : 119

Option Id
119001
119002
119003
119004

Right Option Id : 119004

Question Id : 117

Option Id
117001
117002
117003
117004

Right Option Id : 117004

Question Id : 126

Option Id
126001
126002
126003
126004

Right Option Id : 126001

Question Id : 127



18 giorT Fuifkd war g
Answer :

(A) T e

(B) faerera &1 3e=d

(C) YT PT 3=

(D) VEY® BT BT 34

Right Answer :
3{feNTH e =T

Question 110

5E ATSd [ Rid gal ol
Answer :

(A) TTERATG F fog

(B) TTATHBATAIG & forg

(C) FATRIGd el & forg
(D) WATferaTg & fere

Right Answer :
TATHSGAIaG & fau

Question 111
e e &7 I8 -

Answer :

(A) Rt o Riemn Hivra o1 A &
(B) BT BT &HAT BT fABTH BT
(C) BT & Tt TN HIRT BT [THT HRAT

(D) TGS H T HI T

Right Answer :

fRrerpt # Remr wiret &1 faem B

Question 112
3ICRH Uar foar ST &-
Answer :

(A) P& & 3

(B) U1 A WR

(C) waA

(D) ST H A HIS T

Right Answer :
DHET b 3

Question 113

3rd:fspar fawcyor &) ufshar §-

Answer :

(A) 3 Ufehar

(B) 3fch 34T ufghar
(C) A 3R B Ml

(D) SUYFd # & IS Tl

Right Answer :
A 3R B &Il

Question 114
e R AT IaTE0 &
Answer :

NEZIRELE]

Option Id
127001
127002
127003
127004

Right Option Id : 127001

Question Id : 128

Option Id
128001
128002
128003
128004

Right Option Id : 128002

Question Id : 129

Option Id
129001
129002
129003
129004

Right Option Id : 129001

Question Id : 108

Option Id
108001
108002
108003
108004

Right Option Id : 108001

Question Id : 130

Option Id
130001
130002
130003
130004

Right Option Id : 130003

Question Id : 122

Option Id
122001



(B) SR
©) fam

(D) SWie H q BIS 8T

Right Answer :
CZIRELE!

Question 115

GHTARN Hem H U g o) amfgu-
Answer :

(A) B & TRPIAD SR DT JU&T B
(B) TEPTT & Heifert BT Fgran &

(C) Tt Tl &1 I Ud 78d ¢
(D) S & 4 PIg eI

Right Answer :
Gt STl &1 I Td g8

Question 116

T &1 edich (1R B §

Answer :

(A) Rian &1 352

(B) oy a%g b &1 Ud TRiepRun
(C) 3Ty Td =T

(D) Iugad Tt

Right Answer :

Sy Tt

Question 117
Q&P P I5 ©-

Answer :

(A) I 3R I UG B & forw
(B) T UG & & forg

(C) A 3R B gHI

(D) S8 A BIs 5!

Right Answer :
M 3R Gl UeH A & g

Question 118
guTdT e 8-

Answer :

(A) ST BT TR g0 BT §

(B) S WA 3rafy B TSGR U HR qohdl |
(C) St BT B W  forg IR B §

(D) S8 ¥ BIs el

Right Answer :
Sl BT 1 AR & e IRd Hvd 8

Question 119

TS i R & &Y | RI&01 1 3F< o 9l § 91d 8

Answer :

(A) 3T TR & 31w A gt
(B) BHEI T M UIHR

(C) T JABIRGT b BIw! B B
(D) SUYFd # & TS Tl

122002
122003
122004

Right Option Id : 122001

Questionid : 118

Option Id
118001
118002
118003
118004

Right Option Id : 118003

Question Id : 115

Option Id
115001
115002
115003
115004

Right Option Id : 115004

Questionid : 116

Option Id
116001
116002
116003
116004

Right Option Id : 116001

Question Id : 101

Option Id
101001
101002
101003
101004

Right Option Id : 101003

Question Id : 102

Option Id
102001
102002
102003
102004



Right Answer :
BET A G UTHR

Question 120

I RIgied DI YAqH 71 W b TR dob RIgfor w1 A1fg?

Answer :

(A) SEEY TR
(B) i TR
(OINASH
(D) HATHT TR

Right Answer :
3faelY TR

Question 121

Heuic ufshar 8-

Answer :

(A) THETHSD

(B) UlcHP

(C) IR gl

(D) SWRIE I H & P a1

Right Answer :
SIRIF I

Question 122

e & geaiced & A0 BT U B-

Answer :

(A) & sgya

(B) HTYUTTH U
(C) e srgya
(D) ST 3fgHq

Right Answer :
S{ETH 3rHa

Question 123

Hediep YfHeDT 37aT BT 8-
Answer :

(A) g

(B) UTG=l H

(C) g

(D) STRIead Tt

Right Answer :
IIRIT it

Question 124
ureTaat o1 fRygid smemia 8-

Answer :

(A) fawa-a¥g
(B) TIfafafyr
(OKIEl

(D) IuRrad Tt

Right Answer :
RENECR

Right Option Id : 102002

Question Id : 104

Option Id
104001
104002
104003
104004

Right Option Id : 104001

Question Id : 105

Option Id
105001
105002
105003
105004

Right Option Id : 105003

Question Id : 106

Option Id
106001
106002
106003
106004

Right Option Id : 106004

Question Id : 107

Option Id
107001
107002
107003
107004

Right Option Id : 107004

Question Id : 103

Option Id
103001
103002
103003
103004

Right Option Id : 103004



Question 125

Rren fomm gy {69 & grr fear mar 82
Answer :

(A) Slo BIBRI

(B) Hlo TRIUTSA

(C) P FERTH

(D) STo TaTferR

Right Answer :
o T=TUTA

Question 126

gl BT GHTHGRUN = BT § -
Answer :

(A) THI

(B) URAR

() w

(D) famera

Right Answer :
IRER

Question 127

fhaT ol el &) GHITSS T ¥ e S8 -

Answer :

(A) TRRurfer

(B) HEPIAHRI
(C) FHTSHHRT

(D) SWRIad waft

Right Answer :
TSR]

Question 128
3% B AT BId & S

Answer :

(A) ST EHRIT TRET 9164 & |

(B) ST GHRTT 3<aT URUMH 91d § |

(C) ST BHM ATHTIZATY T gt B B
(D) ST & IS Tl

Right Answer :
ST gHRI Y 918 d § |

Question 129

B g 3 e § drad ©-
Answer ;

(A) PP

(B) T

(C) Ugd

(D) fergax

Right Answer :
XD

Question Id : 109

Option Id
109001
109002
109003
109004

Right Option Id : 109002

Question Id : 110

Option Id
110001
110002
110003
110004

Right Option Id : 110002

Question Id : 111

Option Id
111001
111002
111003
111004

Right Option id : 111003

Question Id : 112

Option Id
112001
112002
112003
112004

Right Option Id : 112001

Questionid : 113

Option Id
113001
113002
113003
113004

Right Option Id : 113001



Question 130

Jrdfde axgen o fRigor ggras It & wu ¥ fear aifge?
Answer :

(A) = B e Brar 8

(B) e sgM & ferg

(C) WTTERY FgTar §

(D) SWRIad it

Right Answer :
IIRIET it

Question 131

TMTH g & Tt Bt Hr At
Answer :

(A) HISTgd

(B) S

(C) Treit

(D) T¥pd

Right Answer :
TXpd

Question 132

W 1 gl A1 A Fafied & § g Sasaens | fRd @2
Answer :

(A) IR SasHEAH

(B) UTh SIISHEHE

(C) TP ¥

(D) A3 TASHRHY

Right Answer :
Ui SicfsHR=HY

Question 133

ATE 2020 § AHSISA & GRH UE 831 § g &8 31 9fg TpRIeTs 8

Answer :
(A foorett
(B) ®Id

(C) DIIa
(D) Ui feraw

Right Answer :
B

Question 134

frafaRed o @ forg o #, fagR ok IS et & orer 1 T
Answer :

(A) 1911

(B) 1912

(C) 1913

(D) 1914

Right Answer :
1912

Question 135

Other Skills

Question Id : 114

Option Id
114001
114002
114003
114004

Right Option Id : 114004

Question Id : 149

Option Id
149001
149002
149003
149004

Right Option Id : 149004

Question Id : 148

Option Id
148001
148002
148003
148004

Right Option Id : 148002

Question Id : 147

Option Id
147001
147002
147003
147004

Right Option Id : 147003

Question Id : 146

Option Id
146001
146002
146003
146004

Right Option Id : 146002

Question Id : 145



TeHT 3 3154, fogR &1 AR Y &1 WU, Ueh THRIONd § Sl & 1Y fdl 62

Answer : Option Id
(A) T 145001
(B) THT ! 145002
(C) SFTHT =7 145003
(D) I 7! 145004
Right Answer : Right Option Id : 145001
T e

Question 136 Question Id : 144
FEfifad # § $19 J Ugud SMOG & R & e RFler §2

Answer : Option Id
(A) HED 144001
(B) dTel & IwH 144002
(C) S TR ! & IHoH Gt 144003
(D) ITGad & ¥ HIs ol 144004
Right Answer : Right Option Id : 144003
YIS 3R aTeAl ¥ I el

Question 137 Question Id : 143
AR HETS B WY dHe-RI § IUAT 3 forg ufaafid it fasan man g2

Answer : Option Id
(A) Tiifep Tg 9gd U S8 ST § 143001
(B) HIfh I8 TguUT UaT &=l & 143002
(C) FfH BHTS BT IYANT Had T & IR a1 ST GhelT § 143003
(D) 1% BT Igd HieT § 3R WE He-R| Bl &b el Jhdl § 143004
Right Answer : Right Option Id : 143002
Fif T TguoT YT Hal §

Question 138 Question Id : 142

I 99 R IS} B HerE B @

Answer : Option Id
(A) I B PeTs 142001
(B) TIepRUT 142002
(C) THIeRTT 142003
(D) 30 A Bl W 7T 142004
Right Answer : Right Option Id : 142001
gl &1 HeTs

Question 139 Question Id : 141
o § 4 o & feey g T 22

Answer : Option Id
(A) BT STEIHRTS 141001
(B) HIg= 141002
(OEESSEICSIES] 141003
(D) FTa AFISHRITSS 141004
Right Answer : Right Option Id : 141004
P A TES

Question 140 Question Id : 131
Frafafad 3 3 g T & R a1 & ded Jad 587 89 82

Answer : Option Id

(A) S 3R HIR 131001



(B) I U
(C) STRTES
(D) HERTSST

Right Answer :
A UG

Question 141
IS T AT BT TS 3R ASTS 10 HY 3R 8 1l B, Al ITHT &7Hd F1d BT |

Answer :

(A) 80 T Tt
(B) 86 Tl Hicx
(C) 80 T Hiex
(D) 84 T Hiex

Right Answer :
80 T Hicx

Question 142

131002
131003
131004

Right Option Id : 131002

Question Id : 139

Option Id
139001
139002
139003
139004

Right Option Id : 139003

Question Id : 138

e A ¥ QR faU1 5% Ul a¥f Thgig ST B &R ¥ 3 WId & forg 4o &1 5000 | {4 1 3 a a6 UTed S aTeh IR HT 0T DY |

Answer :
(A) 5789
(B) 5788.12
(C) 5788.13
(D) 5788

Right Answer :
5788.13

Question 143

(47 x 13.26 + 9.43 + 4.7 x 77.31) HTAA &
Answer :

(A) 47

(B) 470

(C) 4700

(D) 47000

Right Answer :
470

Question 144
ag Ta. . uH. 3 TeATft 114560 B 3R ITHT H.C.F. 13 §1 S 390 A UF 416 §, ) QIR ©

Answer :
(A) 460
(B) 455
(C) 450
(D) 445

Right Answer :
455

Question 145

BN B ST §1/V3 MM &1 $a18 &1 AT T BT I HI0 T gIm?
Answer :

(A) 135°

(B) 45°

(C) 30°

Option Id
138001
138002
138003
138004

Right Option Id : 138003

Question Id : 137

Option Id
137001
137002
137003
137004

Right Option Id : 137002

Question Id : 136

Option Id
136001
136002
136003
136004

Right Option Id : 136002

Question Id : 135

Option Id
135001
135002
135003



(D) 60° 135004

Right Answer : Right Option Id : 135004
60°

Question 146 Question Id : 134
I : A = IHdl:?

Answer : Option Id
(A) TYTHTHTU D 134001
(B) S{&HTUD 134002
(C) faemdf 134003
(D) FORTT 134004
Right Answer : Right Option Id : 134003
faemaff

Question 147 Question Id : 133
98 UG g ol YHE & 3= Usal ¥ T HH {dd Jaar sl

Answer : Option Id
(A) diaa 133001
(B) S 133002
(C) SHEH 133003
(D) B 133004
Right Answer : Right Option Id : 133003
SHATH

Question 148 Question Id : 132
81,9,64 ,8......, 12

Answer : Option Id
(A) 97 132001
(B) 144 132002
(C) 96 132003
(D) 100 132004
Right Answer : Right Option Id : 132002
144

Question 149 Question Id : 140

U MY HIe H PAGES &I RDIHU 3R WRITE &1 YUKWG forar SIrdT 8 | St de Y11 & OTHER &1 o feraT e 2

Answer : Option Id
(A) RVKGU 140001
(B) QWJHT 140002
(C) RWJHU 140003
(D) PWIHS 140004
Right Answer : Right Option Id : 140002
QWJHT

Question 150 Question Id : 150
FIHT I B Telt 71 Mfde iR uy W1 §1 Mide, IQ &1 4 1 Uy $gH ...

Answer : Option Id
(A) =l 150001
(B) TRT TS 150002
(C) S5 13 150003

(D) TS 150004



Right Answer : Right Option Id : 150003

CIRIF



